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UIL ACCOUNTING

Invitational 2004-A

Group 1

For each of the following accounts in items 1 through 10, identify the account classification by writing the correct identifying letter from the following list AND write DR or CR to identify the account’s normal balance side.  Both parts of your response must be correct for your answer to be correct.

A. Asset


D. Revenue

B. Liability


E. Cost of Merchandise Sold

C. Capital


F. Expense

1. Accounts Payable


6. Johnnie Mathers, Drawing

2. Sales




7. Fees Earned

3. Rent Expense



8. Prepaid Insurance

4. Supplies on Hand


9. Johnnie Mathers, Capital

5. Cash



       * 10. Purchases Discounts

Group 2

Using the code below, identify how items 11 through 15 would be handled for the December 31 bank reconciliation of Morrison Co.





A. added to the checkbook balance





B. deducted from the checkbook balance





C. added to the bank statement balance





D. deducted from the bank statement balance

11. There was a bank service charge of $7.50.

12. A deposit on December 29 was not listed among the bank statement deposits for 

      December.

13. Morrison Co.’s December checks #4205, #4207, and #4208 were not listed on the

      bank statement as cleared items.

14. Morrison Co.’s check #4201 was recorded on the check stub as $730 and correctly

      cleared the bank as $370.

* 15. A customer’s check deposited on December 30 by Morrison Co. was returned by

      the bank as NSF.  Morrison Co. first learned about this upon receipt of the 

      December bank statement.

Group 3
At the end of the fiscal year, the accountant found the following errors while working with the trial balance.

Error 1:  The $2,140 balance of the Computer Equipment account was listed in the 

 


    credit column of the trial balance.

Error 2:  An investment in the business of $5,000 by the owner was journalized 




     as a debit to the capital account and as a credit to Cash.

Error 3:  The Rent Expense account balance of $9,090 was listed on the trial 




     balance as a debit of $9,900.

Analyze the effects of the above errors on the trial balance and write the correct answer on your answer sheet for items 16 through 24.


Error 1…….#16………………………….* #17……………………………* #18

Error 2…….#19……………………………#20……………………………* #21

Error 3…….#22……………………………#23……………………………* #24

Group 4

For question #25, write the correct amount on your answer sheet.  Some of the subtotals on a worksheet before net income or net loss is calculated are as follows:

	Income Statement Debit
	$375,860

	Income Statement Credit
	  389,415 

	Balance Sheet Credit
	  184,860


 *25. What is the amount of the Balance Sheet Debit column subtotal before net income 

         or net loss is calculated?

Group 5

Some amounts are omitted in each of the following financial statements:

	                                                      Income Statement

	For the Year Ended December 31, 2003

	
	Pecan Company
	Oak Company
	Elm Company

	Revenues
	               (a)
	$58,420
	        $64,500

	Expenses
	32,745
	   62,870
	             (g)


	Owner’s Equity Statement

	For the Year Ended December 31, 2003

	
	Pecan Company
	Oak Company
	Elm Company

	Capital, January 1
	47,675
	60,790
	              (h)

	Net Income <Loss>
	15,885
	               (d)
	28,490

	Drawing
	                (b)
	5,000
	25,000

	Capital, Dec. 31
	51,560
	               (e)
	61,530


	Balance Sheet

	December 31, 2003

	
	Pecan Company
	Oak Company
	Elm Company

	Total assets
	                (c)
	70,000
	84,750

	Total liabilities
	24,850
	18,660
	              (i)

	Total owner’s equity
	51,560
	                 (f)
	61,530


Determine the missing amounts for items “a” through “i” and write the correct amount for each on your answer sheet.  A net loss must be indicated by brackets or parentheses.

26. Item a







27. Item b







28. Item c







 *29. Item d

 *30. Item e

31. Item f

32. Item g

 *33. Item h

34. Item i

Group 6
Use the following information to answer questions 35 through 40.  Write the identifying letter of the best response on your answer sheet.

	Sales
	68,250
	
	Net Income
	11,444

	Cost of Mdse Sold
	30,464
	
	Transportation In
	2,649

	Purchases
	32,410
	
	Purchases Returns & Allow.
	1,845

	Beginning Inventory
	8,500
	
	Sales Discounts
	1,870

	Purchases Discounts
	2,050
	
	Sales Returns & Allow.
	1,580


35. Net sales are:


A. $64,800

D. $68,250


B. $66,380

E. $71,700


C. $66,670

F. $82,001

*36. Cost of merchandise available for sale is:


A. $  7,254

D. $35,769


B. $34,366

E. $39,664


C. $35,069

F. $44,269

37. Cost of delivered merchandise is:


A. $  2,649

D. $31,164


B. $29,761

E. $35,059


C. $30,464

F. $39,664

 *38. Net purchases are:


A. $25,866

D. $31,164


B. $26,569

E. $35,769


C. $27,269

F. $38,954

*39. Ending inventory is:


A. $3,902

D. $  9,200


B. $4,605

E. $13,805


C. $5,305

F. $16,990

40. Total expenses are:


A. $22,892

D. $26,342


B. $24,472

E. $29,792


C. $24,762

F. $40,093

Group 7

Various account titles from a work sheet of a profitable service business under normal circumstances are listed below with identifying letters.  In questions 41 through 46, identify which account would reflect each condition given across the work sheet.  Write the identifying letter on your answer sheet.



A. Accounts Receivable

D. Income Summary



B. Barry Lobo, Capital

E. Insurance Expense



C. Fees Earned


F. Prepaid Insurance



Trial





Income 

    Balance

    
 Balance

   Adjustments
         Statement

      Sheet
41. debit balance
    
N/A


   N/A


debit balance 

42. credit balance

N/A


   N/A


credit balance

43. debit balance
   credit amount

   N/A

   
 debit balance     

44. credit balance

N/A

     credit balance

        N/A

45. 
N/A

    debit amount
      debit balance

        N/A

46. 
N/A


N/A


   N/A


        N/A

Group 8

For questions 47 through 49, write the correct identifying letter on your answer sheet.

47. Your company purchased merchandise on account from a supplier on January 8 for $650 with terms of sale of 2/10, n/30.  You paid the invoice on January 17.  What was the amount of your check?


A. $13

B. $585
C. $637
D. $650

 *48. Your company sold merchandise to a customer for $550 plus 8% sales tax, FOB shipping point.  Freight for the shipment was $30, which you paid to Central Trucking Lines.  How much does your customer owe you upon receipt of your merchandise and invoice?

       A. $550

B. $580
C. $594
D. $624

49. The following information is found on a correctly completed work sheet for the year 


ended 12-31-03 and in the general ledger for Prepaid Insurance.  (All premiums are 


debited to Prepaid Insurance when policies are purchased.)



Insurance Expense, work sheet Income Statement Debit column $4,295



Prepaid Insurance balance on 1-1-03   $2,650



Insurance premiums paid during 2003   $4,320


What is the amount of Prepaid Insurance written on the work sheet in the balance

       sheet column?

       A. $2,625        B. $2,650
C. $2,675
D. $5,965
E. $11,265

Group 9

Below are the normal account balances of West Services Company at the end of the fiscal year from the adjusted trial balance columns of the work sheet.

	A
	Cash in Bank
	12,485
	
	H
	Income Summary
	-0-

	B
	Accounts Receivable
	3,241
	
	I
	Fees Income
	42,879

	C
	Supplies on Hand
	1,850
	
	J
	Advertising Expense
	4,280

	D
	Prepaid Insurance
	1,200
	
	K
	Insurance Expense
	3,600

	E
	Accounts Payable
	2,855
	
	L
	Supplies Expense
	3,758

	F
	James Rojo, Capital
	14,550
	
	M
	Rent Expense
	18,000

	G
	James Rojo, Drawing
	10,000
	
	N
	Miscellaneous Expense
	1,870


For questions 50 through 62, use the identifying letters to indicate the accounts debited and credited in the following closing entries.  Also write the correct amounts as required on your answer sheet.  All parts of your response must be correct for your answer to be correct.

50-52. The first closing entry includes a debit to #50 and a credit to #51 for $_ #52_.

53-55. The second closing entry includes a debit to #53 and a credit to #54 for a total of

            $_ #55_.

56-58. The third closing entry includes a debit to #56 and a credit to #57 for $_ #58_.

59-61. The fourth closing entry includes a debit to #59 and a credit to #60 for $_ #61_.

**62. What is the balance of the capital account on the post-closing trial balance?

Group 10

Refer to the data in Table 1 on page 8.  You may remove the table page from the staple for convenience.  Analyze the transactions in Table 1 and answer questions 63 through 73 by writing the correct response “Yes” or “No”.

63. Does transaction #2 include a debit to Accounts Receivable?

64. Does transaction #3 decrease Accounts Payable?

65. Does transaction #4 increase the total of the Schedule of Accounts Receivable?

66. Does transaction #4 have the overall effect of increasing owner’s equity at the end 

      of the accounting cycle?

67. Does transaction #5 include a debit to the Lizbeth Acadia, Capital account?

68. Does transaction #6 include a credit to Accounts Payable?

69. Does transaction #7 increase the equity of the creditors?

70. Does transaction #8 include a credit to Accounts Receivable?

71. Does transaction #10 include a credit to Services Income?

72. Does transaction #11 include a debit to Income Summary?

73. Does transaction #8 increase total assets in the accounting equation?

Group 10 continued

Again consider the data in Table 1 after journal entries have been posted.  Answer questions 74 through 80 by writing the correct amount on your answer sheet.

74. What is the total of the credits posted to the Cash in Bank account resulting from 

      October transactions?

75. What is the total amount due to creditors on October 31?

76. What is the total on the Schedule of Accounts Receivable on October 31?

77. By what amount did the Services Income account increase from October 1 to 

      October 31?

**78. What is the amount of net income for the month of October?

 *79. What is the balance of the Cash in Bank account on October 31?

 *80. If a physical inventory of supplies on October 31 indicated $1,370 on hand, what 

      amount should be recorded as expense if this were the end of the fiscal year?

THIS IS THE END OF THE EXAM.  PLEASE HOLD YOUR EXAM AND ANSWER SHEET UNTIL THE CONTEST DIRECTOR ASKS FOR THEM.  THANK YOU!

Table 1

(for questions 63 through 80)

The following accounts are used to record business transactions.  Amounts of balances as of September 30, 2003 are also indicated.  All have normal balances.  It is the company’s policy to prepare adjusting and closing entries only at the end of the fiscal year, which is December 31.

	Cash in Bank
	8,420
	
	Lizbeth Acadia, Capital
	37,270

	Accounts Receivable
	1,670
	
	Lizbeth Acadia, Drawing
	22,500

	Supplies on Hand
	4,280
	
	Services Income
	36,410

	Sewing Equipment
	25,000
	
	Rent Expense
	6,750

	Office Equipment
	4,000
	
	Utilities Expense
	2,070

	Accounts Payable
	2,825
	
	Repairs Expense
	1,815


During October 2003, the business completed the following transactions:

Trans 1
Paid cash for October rent $750

Trans 2
Purchased supplies on account $900

Trans 3
Paid $825 on account

Trans 4
Received cash for services performed $560

Trans 5
Paid cash for owner to use for personal expenses $2,500

Trans 6
Performed services on account $1,800

Trans 7
Purchased additional sewing equipment on account $3,600

Trans 8
Received $845 on account

Trans 9
Paid cash for repairs to equipment $260

Trans 10
Received cash for services performed $210

Trans 11
Paid cash for October’s utilities $290

Write the amount of imbalance (or zero for no imbalance) on your answer sheet.





Is a correcting journal entry required?  Write “yes” or “no” on your answer sheet.





Would the error cause the trial balance to be out of balance?  Write “yes” or “no” on your answer sheet.








